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HERE 16 4 pE 15 4 pE 14 & pE 13

IR ¥ & | vz7 | & & | vz7 | B =B |7 | B = | 7
Et 103,369 100.0 87,382 100.0 244,486 100.0 224,458 100.0
it ¥ & 4,247 41 5,862 6.7 12,291 5.0 13,909 6.2
5 #

=i F

= ik 20 0.0

X FH

1l i 13,031 12.6 14,571 16.7 51,196 20.9 60,893 27.1
& 5 256 0.3 41 0.0
K ik 33 0.0 79 0.1 1,902 0.8 133 0.1
i N 779 0.8 1,729 2.0 2,123 0.9 3,660 1.6
i J=&1 54 0.1 121 0.1 202 0.1 281 0.1
5 + 2,355 2.3 2,036 2.3 1,818 0.7 600 0.3
+ KIS 549 0.5 694 0.8 1,254 0.5 1,374 0.6
o =y 48,114 46.5 37,371 42.8 90,688 37.1 63,801 284
i Ll 14,292 13.8 5,948 6.8 13,622 5.6 14,461 6.4
i V) 233 0.2 474 0.5 10 0.0 20 0.0
l il

) I 5 0.0 11 0.0

& H: 65 0.1 271 0.1 202 0.1
1L ZU 43 0.0
s LiSg 32 0.0 92 0.0 418 0.2
53 B 86 0.1 291 0.3 399 0.2 398 0.2
i [if] 2,352 2.3 688 0.8 2,528 1.0 5,240 2.3
P H 2,070 2.0 2,391 2.7 6,364 2.6 5,996 2.7
= 5 508 0.6 11 0.0

i (= 645 0.3

I #l 297 0.3 129 0.1 1,569 0.6 885 0.4
AN Bz 7,065 6.8 4,475 5.1 20,212 8.3 21,409 9.5
i JiE 5,398 5.2 6,879 7.9 29,138 11.9 23,914 10.7
D B 382 0.4 516 0.6 1,071 0.4 1,463 0.7
Mmoo b 324 0.3 128 0.1 646 0.3 806 0.4
5 il

5 JiEs

[if] 1L 556 0.2

Jis 5 1,048 1.0 1,369 1.6 3,189 1.3 2,209 1.0
1] ] 124 0.1 357 0.2
8 5

H I 11 0.0 92 0.1

P 1% 20 0.0 82 0.0
= Hl

& [if] 238 0.2 428 0.5 1,853 0.8 563 0.3
e = 11 0.0 10 0.0 51 0.0 66 0.0
s % 43 0.0 5 0.0 62 0.0 359 0.2
RE N 193 0.2 295 0.3 157 0.1

X 53

= 2 38 0.0 46 0.0
R & 67 0.1 12 0.0 353 0.1 820 0.4
i it 20 0.0 10 0.0
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